Lesson 28: More on Antiderivatives and Indefinite
Integration
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Ex 6: The rate of growth d:{_fl of a population of bacteria is proportional to the square root
A

of t with a constant coefficient of 2, where P is the population size and t is the time in days
(C) _<_+£ | 0} The initial size of the population is 500. Approximate the population after 7

days. Round the answer to the nearest integer.
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Ex 7: A hot air balloon is rising vertically with a velocity of 16 feet per second. A very small ball is
released from the hot air balloon at the instant when it is 64 feet above the ground. Use

AEN==32 Ft /e asthe acceleration due to gravity.
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Remember | want to solve s(t) =0 for t.
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b) At what velocity will it hit the ground?
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